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Add two surds where you
need to simplify
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Add two surds where you need to simplify

1.  Match up each number card on 2. Simplify.
the left with the simplified surd on
the right. a) VB + 332
B 5v2 b) 2V3 + 5V12
V50 V2 c) 2V3 + 5v27
NoYA 43 d) 6V8 + V50
) — e) V63 + 2v28
427 12V3
2V12 2V6
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Add two surds where you need to simplify

3. Work out the perimeter of each 4. Here are some number cards.
shape.

V20 V45 V125
a) 4727 cm

V48 cm
V180 V80
\/ﬁcm
b) V32 cm Choose three cards which will give a
total of 9V5
V8 cm
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Answers
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Add two surds where you need to simplify

1.  Match up each number card on 2. Simplify
the left with the simplified surd on
the right. a) VB + 3v2 = 5v2
L 5V2 b) 2v3 + 5V12 = 12V/3
V50 2V2 c) 2V3 4+ 5v27 =173
N i3 d) 6v8 + V50 =172
— e) V63 + 228 = 77
4727 123
2V12 2V/6
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Add two surds where you need to simplify

3. Work out the perimeter of each 4. Here are some number cards.
shape.
V20 V45 125
a) 4727 cm
V48 cm
V180 V80
Vi2em 18V3 cm
V32 cm

b) Choose three cards which will give a

V8 cm

12v3 em total of 9V5
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